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1 Knuth-Morris-Pratt algorithm (000000000000)

#include <stdio.h>
#include<fcntl.h>
#include<sys/time.h>
#include<sys/types.h>
#include<unistd.h>
#tdefine XSIZE 1000
#tdefine N 1000
#tdefine M 100

int isready(int fd, int timeout)

int rc;
fd_set fds;
struct timeval tv;

FD_ZERO(&fds) ;
FD_SET(fd,&fds);
tv.tv_sec = timeout;
tv.tv_usec = 0;

rc = select(fd+1, &fds, NULL, NULL, &tv);
if (rc < 0)
return -1;

return FD_ISSET(fd,&fds) ? 1 : 0;
b

main()

char x[N], y[N];

char text1[100] = "A STRING SEARCHING EXAMPLE CONSISTING OF SIMPLE TEXT",
patn1[50] = "STRING";

char text2[100] = "GCATCGCAGAGAGTATACAGTACG",
patn2[50] = "GCAGAGAG";

int m, n;

int fd, s;

fd = STDIN_FILENO;
printf("\nPlease input text: ");

/* scanf("%s", &y) ; */
s = isready(fd, 5); /* stdin O fileno */
if (s < 0) {
exit(1); /* EQOF etc ... %/
} else if (0 < s) { /* normal input ready */
scanf ("%s", &y);
} else /* s == 0 *x/ {
strcpy(y, text2);
printf("%s", y);
}

n = strlen(y);
printf("\nPlease input pattern: ");

/* scanf("%s", &x) ; */
s = isready(fd, 5); /* stdin O fileno */
if (s < 0) {
exit(1); /* EOF etc ... x/
} else if (0 < s) { /* normal input ready */
scanf ("%s", &x);
} else /¥ s == 0 */ {
strcpy(x, patn2);
printf("%s", x);
b

m = strlen(x);



printf("\n\nText is %s, %d, and pattern is %s, %d\n\n", y, n, x, m);
KMP(x, m, y, n);

b

void KMP(char *x, int m, char *y, int n) {
int i, j, kmpNext[1000];

int c_cmp, trial, c_old;

/* preprocessing */
preKMP(x, m, kmpNext);

0;
0;

c_cmp =
trial =
/* Searching */
i=94=0;
while (j <= n-m) {
while (i > -1 && c_cmp++ && x[i] !'= y[jl) {
printf (" mismatch: y[%dl=Yc, x[%dl=Vc\n", j, y[jl, i, x[il);
trial++;
printf("/%d OO, %d 000000 \n\n", trial, c_cmp-c_old);
c_old = c_cmp;
i = kmpNext[i];
}
1++;
Jjt++;
if (i >=m) {
trial++;
if (x[i-1] == y[j-1D)
printf("  Matched at y[/kd]=lic and x[%d]=lic!!!\n’%d attempt, %d OO OO
OO0 \n", j-1, y[j-il, i-1, x[i-1], trial, c_cmp-c_old);
else
printf (" mismatch: y[%dl=Vc, x[%dl=Vc\n", j-1, y[j-11, i-1, x[i-1]1);
c_old = c_cmp;
i = kmpNext[i];
}

b
printf("\n00 %d OO, %d 00000 \n", trial, c_cmp);

void preKMP(char *x, int m, int kmpNext[]) {
int i, j;

0;

j = kmpNext[0] = -1;

while (i < m) {

while (j > -1 && x[i] '= x[j]1)
j = kmpNext[j];

i++;

jt+;

if (x[i] == x[j1)
kmpNext[i] = kmpNext[j];

else

kmpNext[i] = j;

i

printf ("\nkmpNext Table\n\n ");
for(i=0; i<=m; i++) printf("%d: %c %d, ", i, x[i], kmpNext[i]);
printf("\n\n");

2 Boyer-Moore Algorithm

#include <math.h>
#include <stdio.h>
t#tdefine XSIZE 1000
#tdefine ASIZE 128
#tdefine N 1000
#tdefine M 100



#define MAX(a,b) ((a)> (b)) 7 (a): (b)
main()

char x[N], y[N];
int m, n;

printf("Please input text: ");
scanf ("%s", &y) ;
n = strlen(y);

printf("Please input pattern: ");
scanf ("%s", &x) ;
m = strlen(x);

printf("\n %s, %d, %s, %d\n", y, n, x, m);
BM(x, m, y, n);
}

void BM(char *x, int m, char *y, int n) {
int i, j, bmGs[XSIZE], bmBc[ASIZE];
int c_cmp, trial, c_old;

/* preprocessing */
preBmGs(x, m, bmGs);
preBmBc(x, m, bmBc);

0;
0;

c_cmp =
trial =
/* Searching */
j =0
while (j <= n - m) {

for (i =m - 1; 1 >= 0 && c_cmp++ && x[i] == y[i + jl; --1i);

trial++;

if (1 <0) {
printf(" Matched at y[%d]=Yc and x[%d]l=Vc!!!'\nld attempt, %d char comparisons\n\n"
j += bmGs[0];

+

else {
printf (" mismatch: y[%hdl=Vc, x[%hdl=Vkc\n", i+j, yli+jl, i, x[i]);

printf("%d attempt, %d char comparisons\n\n", trial, c_cmp-c_old);
j += MAX(bmGs[i], bmBc[y[i + jl] - m + 1 + i);

c_old = c_cmp;

b
printf("\n 00 %d OO, %d OOO0O0O \n", trial, c_cmp);
b

void preBmBc(char *x, int m, int bmBc[]){
int i;
for (i = 0; 1 < ASIZE; ++i)
bmBc[i] = m;
for (1 =0; 1 <m - 1; ++i)
bmBc[x[i]] = m - 1 - 1;

void preBmGs(char *x, int m, int bmGs[]) {
int i, j, suff[XSIZE];
suffixes(x, m, suff);

for (i = 0; 1 < m; ++1i)

bmGs [i] = m;
j=0;
for (i =m-1; i >= -1; --1)
if (4 == -1 || suffl[i] ==1 + 1)

|
for (; j<m-1-1; ++j)



if (bmGs[j] == m)
bmGs[j] = m - 1 - i;
for (1 = 0; 1 <=m - 2; ++1i)
bmGs[m - 1 - suff[i]] = m - 1 - 1i;

void suffixes(char *x, int m, int *suff) {
int £, g, 1i;

suff[m - 1] = m;
g=m-1,;
for (i =m-2; i>= 0; —--1) {
if (4 > g && suff[i +m-1-£f] <i-g
suff[i] = suff[i +m - 1 - £f];
else {
if (1 < g)
g = 1i;
f =1
while (g >= 0 && x[g] == x[g + m - 1 - £f])

g
suff[i] = f - g;

}
}
b
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